Test writes100

Operation: BasicOperations.Put
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Configuration writes100 requests |errors|latency |latency| latency | RTM | RTM | RTM | RTM |RTM at | RTM at |histograms
mean |std.dev|] max at50 | at90 | at95 | at99 | 99.9 % |99.99 %
% % % %
~ [igroups36|Cluster[default=8]|Iteration|, o05 5351 (|} 72 mg|1.73 ms|208.67 ms|1.77 ms|2.18 ms[2.36 ms|3.19 ms|15.73 ms| 8179 ms| Ristogram
0 percentiles
~ [igroups42|Cluster[default=8]|Iteration|, ¢o) 595 (|} 73 ms|1.09 ms| 76.55 ms|1.79 ms| 2.2 ms[2.41 ms|3.26 ms|10.94 ms| 46.92 ms| Ristogram
0 percentiles
~ [igroups52|Cluster[default=8] Iteri‘)t“’“ 1883502 0171 ms|1.13 ms| 67.63ms|1.77 ms| 22 ms|2.38 ms|3.18 ms| 9.04 ms|49.81 ms ;‘e%tc‘;irt%“els
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